fEHHESAT  UBEAR R HEKH) SRR

H H % IRE LY T BRE 4HTH 5131 6123 H 7H14H 8H11H 9H8H 104 12H 11H4H | 12H14H LH19H 2] 1H 348H B KA fe/ Ml S
K w O C ) 12.9 17.4 22.5 22.4 26.2 28.0 22.0 18.0 12.3 5.9 6.5 8.3 28.0 5.9 16.9
— & M W (E % /m) =100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
K W ] g R i A i A g A g A A A A
ARIV AR OZEONRAEWD =0.003 0.0003 < < < < < < < < < < < < < < <
K E O O b & W =0.0005 0.00005 — — < — — < — — < — — < < < <
L vy kOO AED =0.01 0.001 < < < < < < < < < < < < < < <
h kK O £ o b & P =0.01 0.001 < < < < < < < < < < < < < < <
E K O E 0L &Y <0.01 0.001 < < < < < < < < < < < < < < <
N fli 2 v AN b A W =0.02 0.001 < < < < < < < < < < < < < < <
o O o = & =0.04 0.004 < < < < < < < < < < < < < < <
ST UMM AL U RO T =0.01 0.001 -— — < — — < — — < — — < < < <
T EER AR R R EES =10 0.1 0.46 0.45 0.45 0.41 0.42 0.45 0.46 0.48 0.49 0.59 0.59 0.55 0.59 0.41 0.48
7 v E E B ZE oW AED =0.8 0.05 < < < < < < < < < < < < < < <
v FE K OEOWLRAEDY <1.0 0.1 < < < < < < < < < < < < < < <
Py i} e, 2 # =0.002 0.0002 < < < < < < < < < < < < < < <
4~ v F * ¥ v =<0.05 0.005 < < < < < < < < < < < < < < <
VA-1,2-V/RRIFLY RNV A1, 2-V anEF Ly =0.04 0.004 < < < < < < < < < < < < < < <
Y s/ m o m X K v =0.02 0.001 < < < < < < < < < < < < < < <
F N7 7 mm T F L v =0.01 0.001 < < < < < < < < < < < < < < <
K'Y /B oBr = F Lo =0.01 0.001 < < < < < < < < < < < < < < <
~ 2 £ v =<0.01 0.001 < < < < < < < < < < < < < < <
H # % =0.6 0.06 — — < < — < -— -— < < -— < < < <
7 o o 3 fit =0.02 0.002 — — < — -— < -— -— < -— — < < < <
s m wm K A A <0.06 0.001 0.001 0.003 0.005 0.005 0.004 0.006 0.004 0.002 0.001 < < 0.001 0.006 < 0.003
Yy 7 m v [ B =0.03 0.002 = = < - — < — - < — — < < < <
Y 7 m ® s ouowm kK v =0.1 0.001 < < 0.001 0.001 0.002 0.002 0.001 0.001 0.001 0.001 0.001 < 0.002 < 0.001
R # i3 =0.01 0.001 = = < - — < — - < — — < < < <
[ 3 U R NI = S S 2 =0.1 0.001 0.002 0.005 0.009 0.008 0.009 0.011 0.008 0.005 0.004 0.002 0.002 0.002 0.011 0.002 0.006
K YU s v o owm EE R =0.03 0.002 — — 0.004 — — 0.003 — — < — — < 0.004 < <
7w ® ¥V s ouowm A H v =0.03 0.001 0.001 0.002 0.003 0.002 0.003 0.003 0.003 0.002 0.002 0.001 0.001 0.001 0.003 0.001 0.002
7 v E K L A =0.09 0.001 < < < < < < < < < < < < < < <
B v AN T L F kbR =0.08 0.005 -— -—- < -—- -— < -— -— < -— -— < < < <
o k2 o b &P =1.0 0.01 < < < < < < < < < < < < < < <
TNHWNIZUVLARUVBZOED =0.2 0.01 < < 0.01 0.01 0.02 0.02 0.02 0.01 0.01 < < < 0.02 < <
g% kK O 2 © b & P =0.3 0.01 < < < < < < < < < < < < < < <
i kK O 2 O b & Y =1.0 0.01 < 0.01 < 0.01 0.01 < < 0.01 < < < < 0.01 < <
FTRrIVARUVCZDODEDY =200 1 5.0 5.1 5.2 5.2 5.3 bi5 5.4 6.1 6.1 6.1 5.6 5.4 6.1 5.0 535
~ v R EOWLRAED =0.05 0.005 < < < < < < < < < < < < < < <
w® O B 4 F v =200 1 5.3 5.3 5.4 5.3 5.4 5.5 5.3 5.5 5.3 7.2 6.8 6.0 7.2 5.3 5.7
NIV b= T FUy L&) =300 1 33 34 34 30 36 36 36 41 37 36 39 33 41 30 35
& iy % ® L7l =500 1 55 52 66 56 60 68 60 64 70 69 57 64 70 52 62
bz A 4 v R om s A =0.2 0.02 — - < — -— < — — < -— — < < < <
Y = F xR X v =0.00001 | 0.000001 < < < < < < < < < < < < < < <
2= A F A4V K )L F A — | =0.00001 | 0.000001 < < < < < < < < < < < < < < <
A A R OmE IE A =0.02 0.005 = — < = = < = = < = = < < < <
7 = J = L ¥ =0.005 0.0005 — — < — -— < -— -— < -— -— < < < <
G L/ IEER T JCOF J) =3 0.2 < < 0.2 < < 0.2 0.2 < 0.2 < < < 0.2 < <
pH it 5.8~8.6 7.1 7.0 7.1 7.0 7.1 7.1 7.1 7.1 7.2 7.0 7.0 7.0 7.2 7.0 7.1
% REThRy Bl | BEWARL | BEARL | BEARL | BRERL | BREAl | BREAL | BEARL | BEARL | BEWARL | BEARL | BERL
B ! B TR Bl | BEARL | BERL | RERL | BEAL | BEeL | BERL | BEAL | BEARL | BEAL | BEARL | BElkL
) EoOC E ) =5 0.5 < < < < < < < < < < < < < < <
b} o E ) <2 0.2 < < < < < < < < < < < < < < <
23 2 H ES =0.1 0.1 0.3 0.3 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.3 0.2 0.2

U R, AR A AT, I
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WOETHERT  CUEEAR TR SR
I A % KA T RRAE 4H7H 5H13H 6H23H TH14H 8HI11H 9H8H 10H12H 11H4H 12H14H 1A19H 2H1H 3H8H S KA Fie/IME SR fiE
K w (. C ) 12.9 18.0 23.6 23.4 27.3 30.0 23.3 19.7 13.8 7.1 7.4 9.5 30.0 7.1 18.0
— i M W (% B /mD) =100 0 0 0 0 1 0 0 0 0 0 0 0 0 1 0 0
IN 5 gt At At At At At At A ENE A A ENE ENE
BRIV AR BEONMEDY =0.003 0.0003 < < < < < < < < < < < < < < <
K E 2 0ot &P =0.0005 0.00005 - - < - - < - - < — -— < < < <
L vy E OB EOMNMAED =0.01 0.001 < < < < < < < < < < < < < < <
fh kK O 2 © kb & P =0.01 0.001 < < < < < < < < < < < < < < <
e F K T ZE O AW =0.01 0.001 < < < < < < < < < < < < < < <
x N i 7 v A A Y =0.02 0.001 < < < < < < < < < < < < < < <
oM MmOk =® & =0.04 0.004 < < < < < < < < < < < < < < <
ST AR A A Y RO EAE T | =001 0.001 — -— < -— -— < -— -— < -— -— < < < <
fif Wi fe 2= R K OV Y e B E R =10 0.1 0.45 0.45 0.46 0.41 0.41 0.44 0.45 0.45 0.47 0.58 0.58 0.54 0.58 0.41 0.47
7 v E KUV X OMED =0.8 0.05 < < < < < < < < < < < < < < <
r v FEF K OEOMEDY =1.0 0.1 < < < < < < < < < < < < < < <
] #H e R # =0.002 0.0002 < < < < < < < < < < < < < < <
g 14- ¥ 4 x ¥ v =0.05 0.005 < < < < < < < < < < < < < < <
YA-1,2-V7RREF LY RNV A-1 2-Yyaa T Ly =0.04 0.004 < < < < < < < < < < < < < < <
Y s m o owm 2 A v =0.02 0.001 < < < < < < < < < < < < < < <
S hF Fmu=x F L v =0.01 0.001 < < < < < < < < < < < < < < <
Y 2 BB o F L v =0.01 0.001 < < < < < < < < < < < < < < <
~ 2 + 2 =0.01 0.001 < < < < < < < < < < < < < < <
b # [ =0.6 0.06 — — < < — < — — < < — < < < <
3 7 o " W [i2d =0.02 0.002 = == < - - < - - < - — < < < <
s m m K L A =0.06 0.001 0.002 0.004 0.007 0.006 0.006 0.007 0.004 0.002 0.002 < < 0.001 0.007 < 0.003
Yy 7 v v K @B =0.03 0.002 — — < — — < — -— < -— -— < < < <
Y 7w % J owmou A K v =0.1 0.001 0.001 0.001 0.002 0.001 0.002 0.003 0.002 0.002 0.002 0.002 0.001 0.001 0.003 0.001 0.002
=" # i3 =0.01 0.001 — — < — — < — -— < -— -— < < < <
S N R N~ S S S =0.1 0.001 0.005 0.007 0.013 0.010 0.012 0.014 0.009 0.006 0.006 0.004 0.002 0.004 0.014 0.002 0.008
kY 7 B B B B =0.03 0.002 — — 0.005 — — 0.003 — — < — — < 0.005 < <
. 7 m ® Y s ooom AX =0.03 0.001 0.002 0.002 0.004 0.003 0.004 0.004 0.003 0.002 0.002 0.002 0.001 0.002 0.004 0.001 0.003
i 7 \m  E K A =0.09 0.001 < < < < < < < < < < < < < < <
A v AN T AL F kK =0.08 0.005 — — < — — < — — < — — < < < <
e kR oA =10 0.01 < < < < < < < < < < < < < < <
TANI=ZU LK OVOZOIEDY =0.2 0.01 < < 0.01 0.01 0.02 0.02 0.02 0.01 0.01 < < < 0.02 < <
% kK O £ © kb & P =0.3 0.01 < < < < < < < < < < < < < < <
WOk ™ o b & =1.0 0.01 < < < < < < < < < < < < < < <
FTRITLR D ZORED =200 1 5.0 5.3 5.3 5.5 5.2 5.5 5.4 6.1 6.0 6.2 5.5 5.4 6.2 5.0 5.5
W~ v Wy kO ZEolAEDY =0.05 0.005 < < < < < < < < < < < < < < <
H ok B A4 4 v =200 1 5.2 5.6 5.5 5.6 5.2 5.4 5.2 5.3 5.2 7.4 6.7 6.1 7.4 5.2 5.7
ANV LT RV LE(REE) =300 1 34 35 35 31 36 38 37 42 38 36 39 34 42 31 36
A % % & L/ =500 1 54 52 70 62 46 60 58 60 65 70 62 64 70 46 60
e A4 A v R om WE A =0.2 0.02 —— - < - - < - - < - — < < < <
Y = 4 0z I v =0.00001 | 0.000001 < < < < < < < < < < < < < < <
2- A F L A YR LR A — | £0.00001 | 0.000001 < < < < < < < < < < < < < < <
H A A v R om i A =0.02 0.005 = - < == == < == — < — — < < < <
7 =z J = L H =0.005 0.0005 — — < — — < — — < — -— < < < <
AW % (& A K K% JOoC) &) =3 0.2 < < 0.2 < 0.2 0.2 < < < < < < 0.2 < <
pH it 5.8~8.6 7.1 7.0 7.1 7.1 7.2 7.3 7.2 7.2 7.2 7.0 7.0 7.0 7.3 7.0 7.1
LS By chn BEAL | BEARL | BEARL | EBEARL | EBEARL | EEARL | EZERL | BERL | BERL | BERL | BERL | BEkL
= A HBE Tl RBERL | BEARL | BEAL | BEAL | BEAeL | BEAel | BEAeL | BEAeL | BELL | BELL | BELRL | BRESL
= EO( E ) =5 0.5 < < < < < < < < < < < < < < <
ol EOC E ) =2 0.2 < < < < < < < < < < < < < < <
7% i b ES =0.1 0.1 0.3 0.2 0.2 0.2 0.2 0.1 0.1 0.2 0.2 0.2 0.2 0.3 0.3 0.1 0.2
”on e s . .



R I R SLET (JLBEFE /KR JUBHFERC /K HL) ATN24EE
I A % KA T RRAE 4H7H 5H13H 6H23H TH14H 8HI11H 9H8H 10H12H 11H4H 12H14H 1A19H 2H1H 3H8H FRAE Fie/IME SR fiE
K w (. C ) 13.0 16.2 21.2 23.1 25.7 27.3 24.1 19.1 14.3 7.5 7.1 10.0 27.3 7.1 17.4
— i M W (% B /mD) =100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
IN 5 gt At At At At At At A ENE A A ENE ENE
BRIV AR BEONMEDY =0.003 0.0003 < < < < < < < < < < < < < < <
K E 2 0ot &P =0.0005 0.00005 - - < - - < - - < — -— < < < <
L vy E OB EOMNMAED =0.01 0.001 < < < < < < < < < < < < < < <
fh kK O 2 © kb & P =0.01 0.001 < < < < < < < < < < < < < < <
e F K T ZE O AW =0.01 0.001 < < < < < < < < < < < < < < <
x N i 7 v A A Y =0.02 0.001 < < < < < < < < < < < < < < <
oM MmOk =® & =0.04 0.004 < < < < < < < < < < < < < < <
ST AR A A Y RO EAE T | =001 0.001 -— -— < -— -— < -— -— < -— -— < < < <
fif Wi fe 2= R K OV Y e B E R =10 0.1 0.45 0.44 0.45 0.40 0.41 0.44 0.46 0.45 0.47 0.59 0.58 0.54 0.59 0.40 0.47
7 v E KUV X OMED =0.8 0.05 < < < < < < < < < < < < < < <
r v FEF K OEOMEDY =1.0 0.1 < < < < < < < < < < < < < < <
] #H b R # =0.002 0.0002 < < < < < < < < < < < < < < <
g 14- ¥ 4 x ¥ v =0.05 0.005 < < < < < < < < < < < < < < <
YA-1,2-V7RREF LY RNV A-1 2-Yyaa T Ly =0.04 0.004 < < < < < < < < < < < < < < <
Y s m o owm 2 A v =0.02 0.001 < < < < < < < < < < < < < < <
S hF Fmu=x F L v =0.01 0.001 < < < < < < < < < < < < < < <
Y 2 BB o F L v =0.01 0.001 < < < < < < < < < < < < < < <
~ 2 + 2 =0.01 0.001 < < < < < < < < < < < < < < <
b # [ =0.6 0.06 — — < < — < — — < < — < < < <
3 7 o " W [i2d =0.02 0.002 = == < - - < - - < - — < < < <
s m m K L A =0.06 0.001 0.001 0.004 0.006 0.006 0.005 0.006 0.004 0.002 0.002 < < 0.001 0.006 < 0.003
Yy 7 v v K @B =0.03 0.002 — — < — — < — -— < -— - < < < <
Y 7w % J owmou A K v =0.1 0.001 < < 0.002 0.001 0.002 0.002 0.002 0.002 0.001 0.001 0.001 0.001 0.002 < 0.001
=" # i3 =0.01 0.001 — — < — — < -— -— < -— - < < < <
S N R N~ S S S =0.1 0.001 0.002 0.006 0.011 0.009 0.010 0.011 0.009 0.006 0.005 0.002 0.002 0.004 0.011 0.002 0.006
kY 7 B B B B =0.03 0.002 — — 0.004 — — 0.003 — — < — = < 0.004 < <
. 7 m ® Y s ooom AX =0.03 0.001 0.001 0.002 0.003 0.002 0.003 0.003 0.003 0.002 0.002 0.001 0.001 0.002 0.003 0.001 0.002
i 7 \m  E K A =0.09 0.001 < < < < < < < < < < < < < < <
A v AN T AL F kK =0.08 0.005 — — < — — < — — < — — < < < <
o kK O o &8 =1.0 0.01 < < < < < < < < < < < < < < <
TNHVI=U AR OPZOED =0.2 0.01 < 0.01 0.02 0.02 0.02 0.03 0.02 0.01 0.01 < < < 0.03 < 0.01
% kK O £ © kb & P =0.3 0.01 < < < < < < < < < < < < < < <
WOk ™ o b & =1.0 0.01 < < < < < < < < < < < < < < <
FTRITLR D ZORED =200 1 5.0 5.1 5.2 5.4 5.3 5.5 5.3 6.0 6.0 6.2 5.6 5.4 6.2 5.0 5.5
W~ v Wy kO ZEolAEDY =0.05 0.005 < < < < < < < < < < < < < < <
H ok B A4 4 v =200 1 5.2 5.4 5.4 5.5 5.3 5.4 5.2 5.3 5.2 7.4 6.8 6.1 7.4 5.2 5.7
ANV LT RV LE(REE) =300 1 33 34 34 30 36 36 36 41 37 36 39 33 41 30 35
A % % & L/ =500 1 50 56 74 64 69 66 58 64 66 68 60 61 74 50 63
e A4 A v R om WE A =0.2 0.02 —— - < - - < - - < - — < < < <
Y = 4 0z I v =0.00001 | 0.000001 < < < < < < < < < < < < < < <
2- A F L A YR LR A — | £0.00001 | 0.000001 < < < < < < < < < < < < < < <
H A A v R om i A =0.02 0.005 = - < == == < == — < — — < < < <
7 =z J = L H =0.005 0.0005 — — < — — < — — < — -— < < < <
AW % (& A K K% JOoC) &) =3 0.2 < < 0.2 < < 0.2 0.2 < < < < < 0.2 < <
pH it 5.8~8.6 7.0 6.9 7.0 7.0 7.1 7.3 7.1 7.2 7.2 7.0 7.0 7.0 7.3 6.9 7.1
LS By chn BEnL | BE2L | BE2L | BEA2L | BEAL | BEARL | BEARL | BEARL | BEAL | BEAL | BEAl | BEkl
= A HBE Tl RBERL | BEARL | BEAL | BEAL | BEAeL | BEAel | BEAeL | BEAeL | BELL | BELL | BELRL | BRESL
= EO( E ) =5 0.5 < < < < < < < < < < < < < < <
ol EOC E ) =2 0.2 < < < < < < < < < < < < < < <
7% i b ES =0.1 0.1 0.3 0.3 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.3 0.2 0.2
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fEFET 2 M (LEE®E KR LEERE R K H) AN
I A % KA T RRAE 4H7H 5H13H 6H23H TH14H 8HI11H 9H8H 10H12H 11H4H 12H14H 1A19H 2H1H 3H8H FRAE Fie/IME SR fiE
K w (. C ) 13.5 16.8 21.8 23.6 25.8 27.8 23.3 18.3 12.8 7.7 4.8 8.2 27.8 4.8 17.0
— i M W (% B /mD) =100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
IN 5 gt At At At At At At A ENE A A ENE ENE
BRIV AR BEONMEDY =0.003 0.0003 < < < < < < < < < < < < < < <
K E 2 0ot &P =0.0005 0.00005 - - < - - < - - < — -— < < < <
L vy E OB EOMNMAED =0.01 0.001 < < < < < < < < < < < < < < <
fh kK O 2 © kb & P =0.01 0.001 < < < < < < < < < < < < < < <
e F K T ZE O AW =0.01 0.001 < < < < < < < < < < < < < < <
x N i 7 v A A Y =0.02 0.001 < < < < < < < < < < < < < < <
oM MmOk =® & =0.04 0.004 < < < < < < < < < < < < < < <
ST AR A A Y RO EAE T | =001 0.001 — — < -— -— < -— -— < -— -— < < < <
fif Wi fe 2= R K OV Y e B E R =10 0.1 0.44 0.44 0.46 0.40 0.41 0.42 0.45 0.45 0.47 0.59 0.61 0.55 0.61 0.40 0.47
7 v E KUV X OMED =0.8 0.05 < < < < 0.05 < < < < < < < 0.05 < <
r v FEF K OEOMEDY =1.0 0.1 < < < < < < < < < < < < < < <
] #H b R # =0.002 0.0002 < < < < < < < < < < < < < < <
g 14- ¥ 4 x ¥ v =0.05 0.005 < < < < < < < < < < < < < < <
YA-1,2-V7RREF LY RNV A-1 2-Yyaa T Ly =0.04 0.004 < < < < < < < < < < < < < < <
Y s m o owm 2 A v =0.02 0.001 < < < < < < < < < < < < < < <
F FF% Z mux FL =0.01 0.001 < < < < < < < < < < < < < < <
Y 2 BB o F L v =0.01 0.001 < < < < < < < < < < < < < < <
~ 2 + 2 =0.01 0.001 < < < < < < < < < < < < < < <
b # [ =0.6 0.06 — — < < — < — — < < — < < < <
3 7 o " W [i2d =0.02 0.002 = == < - - < - - < - — < < < <
s m m K L A =0.06 0.001 0.002 0.004 0.007 0.006 0.006 0.007 0.004 0.003 0.002 < 0.001 0.002 0.007 < 0.004
Yy 7 v v K @B =0.03 0.002 — — < — — < — -— < -— -— < < < <
Y 7w % J owmou A K v =0.1 0.001 0.001 0.001 0.002 0.002 0.002 0.003 0.002 0.002 0.002 0.001 0.001 0.002 0.003 0.001 0.002
=" # i3 =0.01 0.001 — — < — — < -— -— < -— -— < < < <
A= T A =0.1 0.001 0.005 0.007 0.013 0.011 0.012 0.014 0.009 0.008 0.006 0.002 0.004 0.006 0.014 0.002 0.008
kY 7 B B B B =0.03 0.002 — — 0.004 — — 0.003 — — < — — < 0.004 < <
. 7 m ® Y s ooom AX =0.03 0.001 0.002 0.002 0.004 0.003 0.004 0.004 0.003 0.003 0.002 0.001 0.002 0.002 0.004 0.001 0.003
i 7 \m  E K A =0.09 0.001 < < < < < < < < < < < < < < <
A v AN T AL F kK =0.08 0.005 — — < — — < — — < — — < < < <
o kX ZE 0ot AE Y =1.0 0.01 < < < < < < < < < < < < < < <
TANI=ZU LK OVOZOIEDY =0.2 0.01 < 0.01 0.01 0.01 0.02 0.03 0.02 0.02 0.01 < < < 0.03 < 0.01
% kK O £ © kb & P =0.3 0.01 < < < 0.01 < 0.02 < 0.02 < < 0.01 < 0.02 < <
Wk T o b A& ! =1.0 0.01 < < < < < < < < < < < < < < <
FTRITLR D ZORED =200 1 5.0 5.3 5.2 5.3 5.2 5.4 5.3 6.1 6.0 6.1 5.5 5.3 6.1 5.0 5.5
W~ v Wy kO ZEolAEDY =0.05 0.005 < < < < < < < < < < < < < < <
H ok B A4 4 v =200 1 5.2 5.7 5.5 5.4 5.2 5.3 5.2 5.5 5.2 7.3 6.6 6.0 7.3 5.2 5.7
ANV LT RV LE(REE) =300 1 33 36 34 30 35 36 36 42 38 35 39 34 42 30 35
A % % & L/ =500 1 58 56 64 67 68 68 59 62 62 66 59 64 68 56 63
e A4 A v R om WE A =0.2 0.02 —— - < - - < - - < - — < < < <
v = 4+ A I v =0.00001 [ 0.000001 < < < < < < < < < < < < < < <
2- A F L A YR LR A — | £0.00001 | 0.000001 < < < < < < < < < < < < < < <
H A A v R om i A =0.02 0.005 = - < == == < == — < — — < < < <
7 =z J = L H =0.005 0.0005 — — < — — < — — < — -— < < < <
AW % (& A K K% JOoC) &) =3 0.2 < < 0.2 0.2 < 0.2 0.2 < < < < < 0.2 < <
pH it 5.8~8.6 7.1 7.0 7.1 7.0 7.1 7.3 7.1 7.2 7.2 7.1 7.0 7.0 7.3 7.0 7.1
LS By chn BEAL | BEARL | BEARL | EBEARL | EBEARL | EEARL | EZERL | BERL | BERL | BERL | BERL | BEkL
= A HBE Tl RBERL | BEARL | BEAL | BEAL | BEAeL | BEAel | BEAeL | BEAeL | BELL | BELL | BELRL | BRESL
= EO( E ) =5 0.5 < < < < < < < < < < < < < < <
ol EOC E ) =2 0.2 < < < < < < < < < < < < < < <
7% 2 i ES =>0.1 0.1 0.2 0.2 0.2 0.1 0.2 0.1 0.1 0.1 0.1 0.2 0.2 0.2 0.2 0.1 0.2
v e "
A D, e (% Nod



WHTEFITE  (—AAKHR P LBk ) A FI2AE
I A % KA T RRAE 4H7H 5H13H 6H23H TH14H 8HI11H 9H8H 10H12H 11H4H 12H14H 1A19H 2H1H 3H8H FRAE Fie/IME SR fiE
K w (. C ) 14.5 18.7 22.7 23.6 27.7 28.0 23.0 18.9 13.6 12.1 12.1 14.0 28.0 12.1 19.1
— i M W (% B /mD) =100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
IN 5 gt At At At At At At A ENE A A ENE ENE
BRIV AR BEONMEDY =0.003 0.0003 < < < < < < < < < < < < < < <
K E 2 0ot &P =0.0005 0.00005 - - < - - < - - < — -— < < < <
L vy E OB EOMNMAED =0.01 0.001 < < < < < < < < < < < < < < <
fh kK O 2 © kb & P =0.01 0.001 < < < < < < < < < < < < < < <
e F K T ZE O AW =0.01 0.001 < < < < < < < < < < < < < < <
x N i 7 v A A Y =0.02 0.001 < < < < < < < < < < < < < < <
oM MmOk =® & =0.04 0.004 < < < < < < < < < < < < < < <
ST AR A A Y RO EAE T | =001 0.001 — — < -— -— < -— -— < -— -— < < < <
fif Wi fe 2= R K OV Y e B E R =10 0.1 0.60 0.56 0.52 0.51 0.50 0.52 0.53 0.53 0.54 0.48 0.50 0.52 0.60 0.48 0.52
7 v E KUV X OMED =0.8 0.05 < < < < < < < < < < < < < < <
r v FEF K OEOMEDY =1.0 0.1 < < < < < < < < < < < < < < <
] #H b R # =0.002 0.0002 < < < < < < < < < < < < < < <
g 14- ¥ 4 x ¥ v =0.05 0.005 < < < < < < < < < < < < < < <
YA-1,2-V7RREF LY RNV A-1 2-Yyaa T Ly =0.04 0.004 < < < < < < < < < < < < < < <
Y s m o owm 2 A v =0.02 0.001 < < < < < < < < < < < < < < <
F FF% Z mux FL =0.01 0.001 < < < < < < < < < < < < < < <
Y 2 BB o F L v =0.01 0.001 < < < < < < < < < < < < < < <
~ 2 + 2 =0.01 0.001 < < < < < < < < < < < < < < <
b # [ =0.6 0.06 — — < < — < — — < < — < < < <
3 7 o " W [i2d =0.02 0.002 = == < - - < - - < - — < < < <
s m m K L A =0.06 0.001 < < < 0.001 0.001 0.001 0.001 < < < < < 0.001 < <
Yy 7 v v K @B =0.03 0.002 — — < — — < — -— < -— -— < < < <
Y 7w % J owmou A K v =0.1 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 < 0.001 < 0.001
=" # i3 =0.01 0.001 — — < — — < -— -— < -— -— < < < <
A= T A =0.1 0.001 < < < 0.002 0.003 0.003 0.003 0.002 < < 0.002 < 0.003 < <
kY 7 B B B B =0.03 0.002 — — < — — < -— -— < -— -— < < < <
" 7 2 T Y/ omoua A K v =0.03 0.001 < < < < 0.001 0.001 0.001 0.001 < < < < 0.001 < <
) 7 \m  E K A =0.09 0.001 < < < < < < < < < < 0.001 < 0.001 < <
A v AN T AL F kK =0.08 0.005 — — < — — < — — < — — < < < <
o kX ZE 0ot AE Y =1.0 0.01 < < < < < < < < < < < < < < <
TNHNI=U ARV ZDOIED =0.2 0.01 < < < < < < < < < < < < < < <
% kK O £ © kb & P =0.3 0.01 < < < < < < < < < < < < < < <
Wk T o b A& ! =1.0 0.01 < < < < < < < < < < < < < < <
FTRITLR D ZORED =200 1 11.9 11.3 11.1 10.7 10.6 10.9 10.8 11.9 12.5 12.6 11.8 12.2 12.6 10.6 11.5
W~ v Wy kO ZEolAEDY =0.05 0.005 < < < < < < < < < < < < < < <
H ok B A4 4 v =200 1 8.3 8.2 8.3 8.2 8.2 8.3 8.3 8.2 8.5 9.0 8.7 8.6 9.0 8.2 8.4
ANV LT RV LE(REE) =300 1 77 74 76 72 75 75 75 84 80 84 91 84 91 72 79
A % % & L/ =500 1 116 113 128 120 117 121 110 114 120 129 121 127 129 110 120
e A4 A v R om WE A =0.2 0.02 —— - < - - < - - < - — < < < <
v = 4+ A I v =0.00001 [ 0.000001 < < < < < < < < < < < < < < <
2- A F L A YR LR A — | £0.00001 | 0.000001 < < < < < < < < < < < < < < <
gl A A v R Om A =0.02 0.005 — — < === === < == == < == = < < < <
7 =z J = L H =0.005 0.0005 — — < — — < — — < — — < < < <
AW % (& A K K% JOoC) &) =3 0.2 < < < < < < < < < < < < < < <
pH it 5.8~8.6 7.6 7.6 7.5 7.5 7.5 7.7 7.5 7.6 7.6 7.5 7.5 7.5 7.7 7.5 7.5
LS By chn BEAL | BEARL | BEARL | EBEARL | EBEARL | EEARL | EZERL | BERL | BERL | BERL | BERL | BEkL
= A HBE Tl RBERL | BEARL | BEAL | BEAL | BEAeL | BEAel | BEAeL | BEAeL | BELL | BELL | BELRL | BRESL
= EO( E ) =5 0.5 < < < < < < < < < < < < < < <
) EoOC E ) =2 0.2 < < < < < < < < < < < < < < <
7% 2 i ES =0.1 0.1 0.2 0.2 0.3 0.3 0.3 0.3 0.3 0.2 0.3 0.3 0.3 0.3 0.3 0.2 0.3
e e T " :
WAL D ma g CEEH  Nos



RE ST = R T (kR AZABKHL) AFN24E L
I A % KA T RRAE 4H7H 5H13H 6H23H TH14H 8HI11H 9H8H 10H12H 11H4H 12H14H 1A19H 2H1H 3H8H FRAE Fie/IME SR fiE
K w (. C ) 13.1 17.6 23.6 23.0 26.6 28.7 21.8 18.8 14.0 7.5 7.4 9.4 28.7 7.4 17.6
— i M W (% B /mD) =100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
IN 5 gt At At At At At At A ENE A A ENE ENE
BRIV AR BEONMEDY =0.003 0.0003 < < < < < < < < < < < < < < <
K E 2 0ot &P =0.0005 0.00005 - - < - - < - - < — -— < < < <
L vy E OB EOMNMAED =0.01 0.001 < < < < < < < < < < < < < < <
fh kK O 2 © kb & P =0.01 0.001 < < < < < < < < < < < < < < <
e F K T ZE O AW =0.01 0.001 < < < < < < < < < < < < < < <
x N i 7 v A A Y =0.02 0.001 < < < < < < < < < < < < < < <
oM MmOk =® & =0.04 0.004 < < < < < < < < < < < < < < <
ST AR A A Y RO EAE T | =001 0.001 — — < -— -— < -— -— < -— -— < < < <
fif Wi fe 2= R K OV Y e B E R =10 0.1 0.42 0.41 0.43 0.40 0.38 0.40 0.41 0.42 0.42 0.47 0.51 0.46 0.51 0.38 0.43
7 v E KUV X OMED =0.8 0.05 < < < < < < < < < < < < < < <
r v FEF K OEOMEDY =1.0 0.1 < < < < < < < < < < < < < < <
] #H b R # =0.002 0.0002 < < < < < < < < < < < < < < <
g 14- ¥ 4 x ¥ v =0.05 0.005 < < < < < < < < < < < < < < <
YA-1,2-V7RREF LY RNV A-1 2-Yyaa T Ly =0.04 0.004 < < < < < < < < < < < < < < <
Y s m o owm 2 A v =0.02 0.001 < < < < < < < < < < < < < < <
F FF% Z mux FL =0.01 0.001 < < < < < < < < < < < < < < <
Y 2 BB o F L v =0.01 0.001 < < < < < < < < < < < < < < <
~ 2 + 2 =0.01 0.001 < < < < < < < < < < < < < < <
b # [ =0.6 0.06 — — < < — < — — < < — < < < <
3 7 o " W [i2d =0.02 0.002 = == < - - < - - < - — < < < <
s m m K L A =0.06 0.001 0.001 0.002 0.004 0.003 0.004 0.003 0.002 0.002 0.001 < < 0.001 0.004 < 0.002
Yy 7 v v K @B =0.03 0.002 — — < — — < — -— < -— -— < < < <
Y 7w % J owmou A K v =0.1 0.001 0.001 0.001 0.002 0.002 0.002 0.003 0.003 0.002 0.002 0.001 0.001 0.001 0.003 0.001 0.002
=" # i3 =0.01 0.001 — — < — — < -— -— < -— -— < < < <
A= T A =0.1 0.001 0.003 0.005 0.009 0.007 0.009 0.009 0.008 0.006 0.005 0.002 0.002 0.003 0.009 0.002 0.006
kY 7 B B B B =0.03 0.002 — — < — — < -— -— < -— -— < < < <
. 7 m ® Y s ooom AX =0.03 0.001 0.001 0.002 0.003 0.002 0.003 0.003 0.003 0.002 0.002 0.001 0.001 0.001 0.003 0.001 0.002
i 7 \m  E K A =0.09 0.001 < < < < < < < < < < < < < < <
A v AN T AL F kK =0.08 0.005 — — < — — < — — < — — < < < <
o kX ZE 0ot AE Y =1.0 0.01 < < < < < < < < < < < < < < <
TNHNI=U ARV ZDOIED =0.2 0.01 < < < < < 0.01 < < < < < < 0.01 < <
% kK O £ © kb & P =0.3 0.01 0.02 < < < < < < < < < < < 0.02 < <
Wk T o b A& ! =1.0 0.01 < < < < < < < < < < < < < < <
FTRITLR D ZORED =200 1 7.3 7.4 7.2 7.4 7.2 7.5 7.8 8.3 8.4 7.7 7.4 7.5 8.4 7.2 7.6
W~ v Wy kO ZEolAEDY =0.05 0.005 < < < < < < < < < < < < < < <
H ok B A4 4 v =200 1 7.1 7.2 7.0 7.1 6.8 7.1 7.3 7.0 7.0 7.6 7.7 7.3 7.7 6.8 7.2
ANV LT RV LE(REE) =300 1 62 63 59 58 60 61 66 69 65 62 69 60 69 58 63
A % % & L/ =500 1 92 92 103 101 102 100 100 97 96 100 94 96 103 92 98
e A4 A v R om WE A =0.2 0.02 —— - < - - < - - < - — < < < <
v = 4+ A I v =0.00001 [ 0.000001 < < < < < < < < < < < < < < <
2- A F L A YR LR A — | £0.00001 | 0.000001 < < < < < < < < < < < < < < <
H A A v R om i A =0.02 0.005 = - < == == < == — < — — < < < <
7 =z J = L H =0.005 0.0005 — — < — — < — — < — -— < < < <
AW % (& A K K% JOoC) &) =3 0.2 < < < < < < < < < < < < < < <
pH it 5.8~8.6 7.4 7.3 7.4 7.4 7.5 7.7 7.5 7.5 7.5 7.4 7.4 7.4 7.7 7.3 7.4
LS By chn BEAL | BEARL | BEARL | EBEARL | EBEARL | EEARL | EZERL | BERL | BERL | BERL | BERL | BEkL
= A HBE Tl RBERL | BEARL | BEAL | BEAL | BEAeL | BEAel | BEAeL | BEAeL | BELL | BELL | BELRL | BRESL
= EO( E ) =5 0.5 < < < < < < < < < < < < < < <
) EoOC E ) =2 0.2 < < < < < < < < < < < < < < <
7% 2 i ES =0.1 0.1 0.2 0.2 0.2 0.3 0.2 0.1 0.2 0.3 0.2 0.2 0.3 0.3 0.3 0.1 0.2
v e "



S = B T (BREAR AR HBLKES) T2

I A % KA T RRAE 4H7H 5H13H 6H23H TH14H 8HI11H 9H8H 10H12H 11H4H 12H14H 1A19H 2H1H 3H8H S KA Fie/IME SR fiE
K w (. C ) 12.3 16.8 22.5 23.6 25.9 27.8 24.8 20.0 14.8 8.6 8.2 10.7 27.8 8.2 18.0
— i M W (% B /mD) =100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
IN 5 gt At At At At At At A ENE A A ENE ENE
BRIV AR BEONMEDY =0.003 0.0003 < < < < < < < < < < < < < < <
K E 2 0ot &P =0.0005 0.00005 - - < - - < - - < — -— < < < <
L vy E OB EOMNMAED =0.01 0.001 < < < < < < < < < < < < < < <
fh kK O 2 © kb & P =0.01 0.001 < < < < < < < < < < < < < < <
EE K O ZE O A D =0.01 0.001 < < < < < < < < < < < < < < <
AN fli 7 v A b & B =0.02 0.001 < < < < < < < < < < < < < < <
oM MmOk =® & =0.04 0.004 < < < < < < < < < < < < < < <
ST AR A A Y RO EAE T | =001 0.001 — -— < -— -— < -— -— < -— -— < < < <
fif Wi fe 2= R K OV Y e B E R =10 0.1 1.00 0.99 0.99 0.98 0.98 1.00 0.99 0.99 0.99 0.99 1.00 1.00 1.00 0.98 0.99
7 v E KUV X OMED =0.8 0.05 < < < < < < < < < < < < < < <
r v FEF K OEOMEDY =1.0 0.1 < < < < < < < < < < < < < < <
] #H e R # =0.002 0.0002 < < < < < < < < < < < < < < <
14 v F X ¥ v =0.05 0.005 < < < < < < < < < < < < < < <
YA-1,2-V7RREF LY RNV A-1 2-Yyaa T Ly =0.04 0.004 < < < < < < < < < < < < < < <
Y s m o owm 2 A v =0.02 0.001 < < < < < < < < < < < < < < <
S hF Fmu=x F L v =0.01 0.001 < < < < < < < < < < < < < < <
Y 2 BB o F L v =0.01 0.001 < < < < < < < < < < < < < < <
~ 2 + 2 =0.01 0.001 < < < < < < < < < < < < < < <
b # % =0.6 0.06 — — < < — < — — < < — < < < <
3 7 o " W [i2d =0.02 0.002 = == < - - < - - < - — < < < <
s m m K L A =0.06 0.001 < < < < < < < < < < < < < < <
Yy 7 v v K @B =0.03 0.002 — — < — — < — -— < -— -— < < < <
Y 7w % J owmou A K v =0.1 0.001 < < < < < < < < < < < < < < <
=" # i3 =0.01 0.001 — — < — — < — -— < -— -— < < < <
B oh U Nom 2H =0.1 0.001 < < < < < < < < < < < < < < <
kY 7 B B B B =0.03 0.002 — — < — — < -— -— < -— -— < < < <
7 m ® Y s ooom AX =0.03 0.001 < < < < < < < < < < < < < < <
7 \m  E K A =0.09 0.001 < < < < < < < < < < < < < < <
A v AN T AL F kK =0.08 0.005 — — < — — < — — < — — < < < <
e kR oA =10 0.01 < < < < < < < < < < < < < < <
TNHNI=U ARV ZDOIED =0.2 0.01 < < < < < < < < < < < < < < <
% kK O £ © kb & P =0.3 0.01 < < < < < < < < < < < < < < <
WOk ™ o b & =1.0 0.01 < < < < < < < < < < < <
FTRITLR D ZORED =200 1 10.5 10.5 10.2 10.2 10.2 10.3 10.2 11.4 11.5 10.5 10.2 10.7 11.5 10.2 10.5
W~ v Wy kO ZEolAEDY =0.05 0.005 < < < < < < < < < < < <
H ok B A4 4 v =200 1 8.5 8.2 8.2 8.1 8.3 8.4 8.3 8.2 8.1 8.3 8.1 8.2 8.5 8.1 8.2
ANV LT RV LE(REE) =300 1 102 101 97 97 101 97 100 114 103 100 111 101 114 97 102
A % % & L/ =500 1 150 154 165 168 161 160 149 154 154 160 150 145 168 145 156
e A4 A v R om WE A =0.2 0.02 —— - < - - < - - < - — < < < <
Y = 4 0z I v =0.00001 | 0.000001 < < < < < < < < < < < < < < <
2- A F L A YR LR A — | £0.00001 | 0.000001 < < < < < < < < < < < < < < <
A A v R om E A =0.02 0.005 == == < == == < = = < = = < < < <
7 =z J = L H =0.005 0.0005 — — < — — < — — < — -— < < < <
AW % (& A K K% JOoC) &) =3 0.2 < < < < < < < < < < < < < < <
pH it 5.8~8.6 7.7 7.7 7.7 7.7 7.8 7.8 7.7 7.8 7.8 7.7 7.6 7.6 7.8 7.6 7.7
LS By chn BEAL | BEARL | BEARL | EBEARL | EBEARL | EEARL | EZERL | BERL | BERL | BERL | BERL | BEkL
= A HBE Tl RBERL | BEARL | BEAL | BEAL | BEAeL | BEAel | BEAeL | BEAeL | BELL | BELL | BELRL | BRESL
= EO( E ) =5 0.5 < < < < < < < < < < < < < < <
) EoOC E ) =2 0.2 < < < < < < < < < < < < < < <
7% i b ES =0.1 0.1 0.3 0.3 0.2 0.2 0.2 0.2 0.2 0.1 0.2 0.2 0.2 0.2 0.3 0.1 0.2

PRI AR T R
B SRRV D . meg/1E T, (|) AT No.7




TN OITEAR )78k i) BRI2IELE
I A % KA T RRAE 4H7H 5H13H 6H23H TH14H 8HI11H 9H8H 10H12H 11H4H 12H14H 1A19H 2H1H 3H8H FRAE Fie/IME SR fiE
K w (. C ) 13.2 18.9 22.2 22.8 25.7 27.9 22.5 18.0 13.5 6.7 6.5 10.2 27.9 6.5 17.3
— i M W (% B /mD) =100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
IN 5 gt At At At At At At A ENE A A ENE ENE
BRIV AR BEONMEDY =0.003 0.0003 < < < < < < < < < < < < < < <
K E 2 0ot &P =0.0005 0.00005 - - < - - < - - < — -— < < < <
L vy E OB EOMNMAED =0.01 0.001 < < < < < < < < < < < < < < <
fh kK O 2 © kb & P =0.01 0.001 < < < < < < < < < < < < < < <
e F K T ZE O AW =0.01 0.001 < < < < < < < < < < < < < < <
x N i 7 v A A Y =0.02 0.001 < < < < < < < < < < < < < < <
oM MmOk =® & =0.04 0.004 < < < < < < < < < < < < < < <
ST AR A A Y RO EAE T | =001 0.001 — — < -— -— < -— -— < -— -— < < < <
fif Wi fe 2= R K OV Y e B E R =10 0.1 0.45 0.44 0.46 0.41 0.39 0.43 0.46 0.45 0.47 0.55 0.60 0.54 0.60 0.39 0.47
7 v E KUV X OMED =0.8 0.05 < < < < < < < < < < < < < < <
r v FEF K OEOMEDY =1.0 0.1 < < < < < < < < < < < < < < <
] #H b R # =0.002 0.0002 < < < < < < < < < < < < < < <
g 14- ¥ 4 x ¥ v =0.05 0.005 < < < < < < < < < < < < < < <
YA-1,2-V7RREF LY RNV A-1 2-Yyaa T Ly =0.04 0.004 < < < < < < < < < < < < < < <
Y s m o owm 2 A v =0.02 0.001 < < < < < < < < < < < < < < <
F FF% Z mux FL =0.01 0.001 < < < < < < < < < < < < < < <
Y 2 BB o F L v =0.01 0.001 < < < < < < < < < < < < < < <
~ 2 + 2 =0.01 0.001 < < < < < < < < < < < < < < <
b # [ =0.6 0.06 — — < < — < — — < < — < < < <
3 7 o " W [i2d =0.02 0.002 = == < - - < - - < - — < < < <
s m m K L A =0.06 0.001 0.002 0.004 0.006 0.006 0.006 0.006 0.004 0.003 0.002 0.001 0.001 0.002 0.006 0.001 0.004
Yy 7 v v K @B =0.03 0.002 — — < — — < — -— < -— -— < < < <
Y 7w % J owmou A K v =0.1 0.001 0.001 0.002 0.002 0.002 0.002 0.003 0.002 0.002 0.002 0.002 0.002 0.002 0.003 0.001 0.002
=" # i3 =0.01 0.001 — — < — — < -— -— < -— -— < < < <
A= T A =0.1 0.001 0.005 0.009 0.011 0.011 0.012 0.013 0.010 0.008 0.006 0.005 0.005 0.006 0.013 0.005 0.008
kY 7 B B B B =0.03 0.002 — — 0.004 — — 0.003 — — < — — < 0.004 < <
. 7 m ® Y s ooom AX =0.03 0.001 0.002 0.003 0.003 0.003 0.004 0.004 0.004 0.003 0.002 0.002 0.002 0.002 0.004 0.002 0.003
i 7 \m  E K A =0.09 0.001 < < < < < < < < < < < < < < <
A v AN T AL F kK =0.08 0.005 — — < — — < — — < — — < < < <
o kX ZE 0ot AE Y =1.0 0.01 < < < < < < < < < < < < < < <
TANI=ZU LK OVOZOIEDY =0.2 0.01 < < 0.01 0.01 0.02 0.02 0.01 0.01 0.01 < < < 0.02 < <
% kK O £ © kb & P =0.3 0.01 < < < < < < < < < < < < < < <
Wk T o b A& ! =1.0 0.01 < < < < < < < < < < < < < < <
FTRITLR D ZORED =200 1 5.0 5.3 5.2 5.5 5.2 5.4 5.4 6.2 6.0 6.0 5.5 5.3 6.2 5.0 5.5
W~ v Wy kO ZEolAEDY =0.05 0.005 < < < < < < < < < < < < < < <
H ok B A4 4 v =200 1 5.3 5.7 5.5 5.6 5.1 5.4 5.2 5.4 5.2 7.0 6.7 6.0 7.0 5.1 5.7
ANV LT RV LE(REE) =300 1 33 36 34 30 35 36 36 42 37 36 39 33 42 30 36
A % % & L/ =500 1 52 58 70 67 62 70 60 63 66 70 62 62 70 52 64
e A4 A v R om WE A =0.2 0.02 —— - < - - < - - < - — < < < <
v = 4+ A I v =0.00001 [ 0.000001 < < < < < < < < < < < < < < <
2- A F L A YR LR A — | £0.00001 | 0.000001 < < < < < < < < < < < < < < <
H A A v R om i A =0.02 0.005 = - < == == < == — < — — < < < <
7 =z J = L H =0.005 0.0005 — — < — — < — — < — -— < < < <
AW % (& A K K% JOoC) &) =3 0.2 < < < 0.2 0.2 0.2 0.2 < < < < < 0.2 < <
pH it 5.8~8.6 7.2 7.1 7.1 7.1 7.2 7.3 7.2 7.3 7.3 7.2 7.1 7.1 7.3 7.1 7.2
LS By chn Bael | BEARL | BEARL | BEAL | BEARL | BREAL | BEAL | B2l | BREAaL | BEAL | BEARL | BREAL
= A HBE Tl RBERL | BEARL | BEAL | BEAL | BEAeL | BEAel | BEAeL | BEAeL | BELL | BELL | BELRL | BRESL
= EO( E ) =5 0.5 < < < < < < < < < < < < < < <
) EoOC E ) =2 0.2 < < < < < < < < < < < < < < <
7% 2 i ES =0.1 0.1 0.2 0.3 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.3 0.2 0.2

TV RS, IR AR T,

Wi, 2072V RY , mg/1ET 5, ()L No.8



@ — ESFRT ONvEARFR —ESFIER) AFN2AEFE
I A % KA T RRAE 4H7H 5H13H 6H23H TH14H 8HI11H 9H8H 10H12H 11H4H 12H14H 1A19H 2H1H 3H8H FRAE Fie/IME SR fiE
K w (. C ) 12.5 17.0 22.3 22.8 25.6 27.6 23.5 18.6 13.1 6.7 6.8 9.6 27.6 6.7 17.2
— i M W (% B /mD) =100 0 0 2 0 0 0 0 0 0 0 0 0 0 2 0 0
IN 5 gt At At At At At At A ENE A A ENE ENE
BRIV AR BEONMEDY =0.003 0.0003 < < < < < < < < < < < < < < <
K E 2 0ot &P =0.0005 0.00005 - - < - - < - - < — -— < < < <
L vy E OB EOMNMAED =0.01 0.001 < < < < < < < < < < < < < < <
fh kK O 2 © kb & P =0.01 0.001 < < < < < < < < < < < < < < <
e F K T ZE O AW =0.01 0.001 < < < < < < < < < < < < < < <
x N i 7 v A A Y =0.02 0.001 < < < < < < < < < < < < < < <
oM MmOk =® & =0.04 0.004 < < < < < < < < < < < < < < <
ST AR A A Y RO EAE T | =001 0.001 — — < -— -— < -— -— < -— -— < < < <
fif Wi fe 2= R K OV Y e B E R =10 0.1 0.45 0.44 0.47 0.43 0.38 0.42 0.46 0.46 0.47 0.54 0.61 0.55 0.61 0.38 0.47
7 v E KUV X OMED =0.8 0.05 < < < < < < < < < < < < < < <
r v FEF K OEOMEDY =1.0 0.1 < < < < < < < < < < < < < < <
] #H b R # =0.002 0.0002 < < < < < < < < < < < < < < <
g 14- ¥ 4 x ¥ v =0.05 0.005 < < < < < < < < < < < < < < <
YA-1,2-V7RREF LY RNV A-1 2-Yyaa T Ly =0.04 0.004 < < < < < < < < < < < < < < <
Y s m o owm 2 A v =0.02 0.001 < < < < < < < < < < < < < < <
F FF% Z mux FL =0.01 0.001 < < < < < < < < < < < < < < <
Y 2 BB o F L v =0.01 0.001 < < < < < < < < < < < < < < <
~ 2 + 2 =0.01 0.001 < < < < < < < < < < < < < < <
b # [ =0.6 0.06 — — < < — < — — < < — < < < <
3 7 o " W [i2d =0.02 0.002 = == < - - < - - < - — < < < <
s m m K L A =0.06 0.001 0.003 0.004 0.006 0.006 0.007 0.006 0.004 0.003 0.002 0.001 0.001 0.002 0.007 0.001 0.004
Yy 7 v v K @B =0.03 0.002 — — < — — < — -— < -— -— < < < <
Y 7w % J owmou A K v =0.1 0.001 0.002 0.002 0.002 0.002 0.002 0.003 0.003 0.002 0.002 0.002 0.002 0.002 0.003 0.002 0.002
=" # i3 =0.01 0.001 — — < — — < -— -— < -— -— < < < <
A= T A =0.1 0.001 0.007 0.009 0.011 0.011 0.013 0.013 0.011 0.008 0.006 0.005 0.005 0.006 0.013 0.005 0.009
kY 7 B B B B =0.03 0.002 — — 0.004 — — 0.003 — — < — — < 0.004 < <
. 7 m ® Y s ooom AX =0.03 0.001 0.002 0.003 0.003 0.003 0.004 0.004 0.004 0.003 0.002 0.002 0.002 0.002 0.004 0.002 0.003
i 7 \m  E K A =0.09 0.001 < < < < < < < < < < < < < < <
A v AN T AL F kK =0.08 0.005 — — < — — < — — < — — < < < <
o kX ZE 0ot AE Y =1.0 0.01 < < < < < < < < < < < < < < <
TANI=ZU LK OVOZOIEDY =0.2 0.01 < 0.01 0.01 0.01 0.02 0.02 0.01 0.01 0.01 < < < 0.02 < <
% kK O £ © kb & P =0.3 0.01 < < < < < < < < < < < < < < <
Wk T o b A& ! =1.0 0.01 < < < < < < < < < < < < < < <
FTRITLR D ZORED =200 1 5.1 5.4 5.3 5.5 5.1 5.5 5.5 6.2 6.1 5.7 5.5 5.4 6.2 5.1 5.5
W~ v Wy kO ZEolAEDY =0.05 0.005 < < < < < < < < < < < < < < <
H ok B A4 4 v =200 1 5.3 5.7 5.5 5.7 5.1 5.4 5.4 5.5 5.2 6.5 6.5 6.2 6.5 5.1 5.7
ANV LT RV LE(REE) =300 1 33 36 34 31 34 36 36 42 37 35 39 33 42 31 36
A % % & L/ =500 1 55 57 68 72 64 66 60 64 62 67 64 62 72 55 63
e A4 A v R om WE A =0.2 0.02 —— - < - - < - - < - — < < < <
v = 4+ A I v =0.00001 [ 0.000001 < < < < < < < < < < < < < < <
2- A F L A YR LR A — | £0.00001 | 0.000001 < < < < < < < < < < < < < < <
H A A v R om i A =0.02 0.005 = - < == == < == — < — — < < < <
7 =z J = L H =0.005 0.0005 — — < — — < — — < — -— < < < <
AW % (& A K K% JOoC) &) =3 0.2 < < < < 0.2 0.2 < < < < < < 0.2 < <
pH it 5.8~8.6 7.3 7.3 7.3 7.3 7.4 7.5 7.4 7.5 7.4 7.3 7.3 7.3 7.5 7.3 7.4
LS By chn BEAL | BEARL | BEARL | EBEARL | EBEARL | EEARL | EZERL | BERL | BERL | BERL | BERL | BEkL
= A HBE Tl RBERL | BEARL | BEAL | BEAL | BEAeL | BEAel | BEAeL | BEAeL | BELL | BELL | BELRL | BRESL
= EO( E ) =5 0.5 < < < < < < < < < < < < < < <
) EoOC E ) =2 0.2 < < < < < < < < < < < < < < <
7% 2 i ES =>0.1 0.1 0.3 0.3 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.3 0.3 0.2 0.3 0.2 0.2
v e "



WITNHERT  OIEATR 1 PR A ) AFI2AE S
I A % KA T RRAE 4H7H 5H13H 6H23H TH14H 8HI11H 9H8H 10H12H 11H4H 12H14H 1A19H 2H1H 3H8H S KA Fie/IME SR fiE
K w (. C ) 13.5 18.1 22.7 23.0 27.0 28.6 23.2 18.2 13.1 7.4 8.4 10.7 28.6 7.4 17.8
— i M W (% B /mD) =100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
IN 5 gt At At At At At At A ENE A A ENE ENE
BRIV AR BEONMEDY =0.003 0.0003 < < < < < < < < < < < < < < <
K E 2 0ot &P =0.0005 0.00005 - - < - - < - - < — -— < < < <
L vy E OB EOMNMAED =0.01 0.001 < < < < < < < < < < < < < < <
fh kK O 2 © kb & P =0.01 0.001 < < < < < < < < < < < < < < <
e F K T ZE O AW =0.01 0.001 < < < < < < < < < < < < < < <
x N i 7 v A A Y =0.02 0.001 < < < < < < < < < < < < < < <
oM MmOk =® & =0.04 0.004 < < < < < < < < < < < < < < <
ST AR A A Y RO EAE T | =001 0.001 — -— < -— -— < -— -— < -— -— < < < <
fif Wi fe 2= R K OV Y e B E R =10 0.1 0.46 0.45 0.48 0.45 0.37 0.41 0.47 0.47 0.48 0.57 0.61 0.55 0.61 0.37 0.48
7 v E KUV X OMED =0.8 0.05 < < < < < < < < < < < < < < <
r v FEF K OEOMEDY =1.0 0.1 < < < < < < < < < < < < < < <
] #H e R # =0.002 0.0002 < < < < < < < < < < < < < < <
g 14- ¥ 4 x ¥ v =0.05 0.005 < < < < < < < < < < < < < < <
YA-1,2-V7RREF LY RNV A-1 2-Yyaa T Ly =0.04 0.004 < < < < < < < < < < < < < < <
Y s m o owm 2 A v =0.02 0.001 < < < < < < < < < < < < < < <
S hF Fmu=x F L v =0.01 0.001 < < < < < < < < < < < < < < <
Y 2 BB o F L v =0.01 0.001 < < < < < < < < < < < < < < <
~ 2 + 2 =0.01 0.001 < < < < < < < < < < < < < < <
b # [ =0.6 0.06 — — < < — < — — < < — < < < <
3 7 o " W [i2d =0.02 0.002 = == < - - < - - < - — < < < <
s m m K L A =0.06 0.001 0.003 0.004 0.005 0.006 0.006 0.007 0.004 0.003 0.002 0.001 0.001 0.002 0.007 0.001 0.004
Yy 7 v v K @B =0.03 0.002 — — < — — < — -— < -— -— < < < <
Y 7w % J owmou A K v =0.1 0.001 0.002 0.002 0.002 0.002 0.003 0.003 0.003 0.003 0.002 0.002 0.002 0.002 0.003 0.002 0.002
=" # i3 =0.01 0.001 — — < — — < — -— < -— -— < < < <
S N R N~ S S S =0.1 0.001 0.007 0.009 0.010 0.012 0.013 0.015 0.011 0.009 0.007 0.005 0.005 0.006 0.015 0.005 0.009
kY 7 B B B B =0.03 0.002 — — 0.003 — — 0.003 — — < — — < 0.003 < <
. 7 m ® Y s ooom AX =0.03 0.001 0.002 0.003 0.003 0.003 0.004 0.005 0.004 0.003 0.003 0.002 0.002 0.002 0.005 0.002 0.003
i 7 \m  E K A =0.09 0.001 < < < < < < < < < < < < < < <
A v AN T AL F kK =0.08 0.005 — — < — — < — — < — — < < < <
e kR oA =10 0.01 < < < < < < < < < < < < < < <
TANI=ZU LK OVOZOIEDY =0.2 0.01 < < 0.01 0.01 0.02 0.02 0.01 0.01 < < < < 0.02 < <
% kK O £ © kb & P =0.3 0.01 0.02 0.02 < < < < < < < < < < 0.02 < <
WOk ™ o b & =1.0 0.01 < < < < < < < < < < < < < < <
FTRITLR D ZORED =200 1 5.1 5.3 5.4 5.6 5.1 5.5 5.6 6.2 6.1 5.6 5.5 5.5 6.2 5.1 5.5
W~ v Wy kO ZEolAEDY =0.05 0.005 < < < < < < < < < < < < < < <
H ok B A4 4 v =200 1 5.3 5.7 5.5 5.7 5.1 5.5 5.4 5.5 5.3 6.4 6.5 6.2 6.5 5.1 5.7
ANV LT RV LE(REE) =300 1 34 37 36 34 35 37 38 43 38 36 41 34 43 34 37
A % % & L/ =500 1 53 60 66 77 66 74 63 64 66 66 68 64 77 53 66
e A4 A v R om WE A =0.2 0.02 —— - < - - < - - < - — < < < <
Y = 4 0z I v =0.00001 | 0.000001 < < < < < < < < < < < < < < <
2- A F L A YR LR A — | £0.00001 | 0.000001 < < < < < < < < < < < < < < <
H A A v R om i A =0.02 0.005 = - < == == < == — < — — < < < <
7 =z J = L H =0.005 0.0005 — — < — — < — — < — -— < < < <
AW % (& A K K% JOoC) &) =3 0.2 < < < < < 0.2 < < < < < < 0.2 < <
pH it 5.8~8.6 7.3 7.3 7.3 7.3 7.4 7.5 7.5 7.5 7.5 7.3 7.2 7.2 5 7.2 7.3
LS By chn BEnL | BE2L | BE2L | BEA2L | BEAL | BEARL | BEARL | BEARL | BEAL | BEAL | BEAl | BEkl
= A HBE Tl RBERL | BEARL | BEAL | BEAL | BEAeL | BEAel | BEAeL | BEAeL | BELL | BELL | BELRL | BRESL
= EO( E ) =5 0.5 < < < < < < < < < < < < < < <
ol EOC E ) =2 0.2 < < < < < < < < < < < < < < <
7% i b ES =0.1 0.1 0.2 0.3 0.3 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.3 0.2 0.2
”on e s . .




AT (HREAR  EIREEKH) A FI2AE
I A % KA T RRAE 4H7H 5H13H 6H23H TH14H 8HI11H 9H8H 10H12H 11H4H 12H14H 1A19H 2H1H 3H8H FRAE Fie/IME SR fiE
K w (. C ) 13.1 18.5 24.4 24.0 28.6 29.7 22.7 19.9 13.2 7.8 7.8 9.9 29.7 7.8 18.3
— i M W (% B /mD) =100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
IN 5 gt At At At At At At A ENE A A ENE ENE
BRIV AR BEONMEDY =0.003 0.0003 < < < < < < < < < < < < < < <
K E 2 0ot &P =0.0005 0.00005 - - < - - < - - < — -— < < < <
L vy E OB EOMNMAED =0.01 0.001 < < < < < < < < < < < < < < <
fh kK O 2 © kb & P =0.01 0.001 < < < < < < < < < < < < < < <
e F K T ZE O AW =0.01 0.001 < < < < < < < < < < < < < < <
x N i 7 v A A Y =0.02 0.001 < < < < < < < < < < < < < < <
oM MmOk =® & =0.04 0.004 < < < < < < < < < < < < < < <
ST AR A A Y RO EAE T | =001 0.001 — — < -— -— < -— -— < -— -— < < < <
fif Wi fe 2= R K OV Y e B E R =10 0.1 0.83 0.82 0.69 0.65 0.66 0.66 0.57 0.55 0.58 0.88 1.01 1.02 1.02 0.55 0.74
7 v E KUV X OMED =0.8 0.05 < < < < < < < < < < < < < < <
r v FEF K OEOMEDY =1.0 0.1 < < < < < < < < < < < < < < <
] #H b R # =0.002 0.0002 < < < < < < < < < < < < < < <
g 14- ¥ 4 x ¥ v =0.05 0.005 < < < < < < < < < < < < < < <
YA-1,2-V7RREF LY RNV A-1 2-Yyaa T Ly =0.04 0.004 < < < < < < < < < < < < < < <
Y s m o owm 2 A v =0.02 0.001 < < < < < < < < < < < < < < <
F FF% Z mux FL =0.01 0.001 < < < < < < < < < < < < < < <
Y 2 BB o F L v =0.01 0.001 < < < < < < < < < < < < < < <
~ 2 + 2 =0.01 0.001 < < < < < < < < < < < < < < <
b # [ =0.6 0.06 — — < < — < — — < < — < < < <
3 7 o " W [i2d =0.02 0.002 = == < - - < - - < - — < < < <
s m m K L A =0.06 0.001 < < 0.001 0.002 0.001 0.001 0.001 < < < < < 0.002 < <
Yy 7 v v K @B =0.03 0.002 — — < — — < — -— < -— -— < < < <
Y 7w % J owmou A K v =0.1 0.001 < < 0.001 0.001 0.001 0.001 0.001 0.001 < < < < 0.001 < <
=" # i3 =0.01 0.001 — — < — — < -— -— < -— -— < < < <
A= T A =0.1 0.001 < < 0.003 0.004 0.003 0.003 0.003 0.002 < < < < 0.004 < <
kY 7 B B B B =0.03 0.002 — — < — — < -— -— < -— -— < < < <
. 7 m ® Y s ooom AX =0.03 0.001 < < 0.001 0.001 0.001 0.001 0.001 0.001 < < < < 0.001 < <
i 7 \m  E K A =0.09 0.001 < < < < < < < < < < < < < < <
A v AN T AL F kK =0.08 0.005 — — < — — < — — < — — < < < <
o kX ZE 0ot AE Y =1.0 0.01 < < < < < < < < < < < < < < <
TNHNI=U ARV ZDOIED =0.2 0.01 < < < < < < < < < < < < < < <
% kK O £ © kb & P =0.3 0.01 < < < < < < < < < < < < < < <
Wk T o b A& ! =1.0 0.01 < < < < < < 0.01 < < < < < 0.01 < <
FTRITLR D ZORED =200 1 6.9 7.0 6.9 6.8 7.0 7.1 7.1 7.9 7.6 7.1 6.9 7.1 7.9 6.8 7.1
W~ v Wy kO ZEolAEDY =0.05 0.005 < < < < < < < < < < < < < < <
H ok B A4 4 v =200 1 7.0 7.0 7.0 6.7 6.6 6.5 6.2 6.0 5.6 6.4 6.7 7.3 7.3 5.6 6.6
ANV LT RV LE(REE) =300 1 47 48 46 44 48 49 49 55 49 47 53 47 55 44 48
A % % & L/ =500 1 71 74 86 97 98 88 80 78 78 80 82 80 98 71 83
e A4 A v R om WE A =0.2 0.02 —— - < - - < - - < - — < < < <
v = 4+ A I v =0.00001 [ 0.000001 < < < < < < < < < < < < < < <
2- A F L A YR LR A — | £0.00001 | 0.000001 < < < < < < < < < < < < < < <
H A A v R om i A =0.02 0.005 = - < == == < == — < — — < < < <
7 =z J = L H =0.005 0.0005 — — < — — < — — < — -— < < < <
AW % (& A K K% JOoC) &) =3 0.2 < < < < < < < < < < < < < < <
pH it 5.8~8.6 6.9 6.9 6.9 6.9 7.0 7.1 7.0 7.0 7.0 6.9 6.8 6.8 7.1 6.8 6.9
LS By chn BEAL | BEARL | BEARL | EBEARL | EBEARL | EEARL | EZERL | BERL | BERL | BERL | BERL | BEkL
= A HBE Tl RBERL | BEARL | BEAL | BEAL | BEAeL | BEAel | BEAeL | BEAeL | BELL | BELL | BELRL | BRESL
= EO( E ) =5 0.5 < < < < < < < < < < < < < < <
) EoOC E ) =2 0.2 < < < < < < < < < < < < < < <
7% 2 i ES =0.1 0.1 0.3 0.3 0.2 0.3 0.3 0.3 0.2 0.2 0.3 0.3 0.3 0.3 0.3 0.2 0.3

TV RS, IR AR T,

Wi, 2072V RY , mg/1ET 5, (F#)¥H  No.l1



KEFET = AT (HREARR FEEElAKH) AN
I A % KA T RRAE 4H7H 5H13H 6H23H TH14H 8HI11H 9H8H 10H12H 11H4H 12H14H 1A19H 2H1H 3H8H FRAE Fie/IME SR fiE
K w (. C ) 12.8 17.0 22.3 22.0 25.7 28.3 23.0 19.6 14.4 8.2 8.2 8.9 28.3 8.2 17.5
— i M W (% B /mD) =100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
IN 5 gt At At At At At At A ENE A A ENE ENE
BRIV AR BEONMEDY =0.003 0.0003 < < < < < < < < < < < < < < <
K E 2 0ot &P =0.0005 0.00005 - - < - - < - - < — -— < < < <
L vy E OB EOMNMAED =0.01 0.001 < < < < < < < < < < < < < < <
fh kK O 2 © kb & P =0.01 0.001 < < < < < < < < < < < < < < <
e F K T ZE O AW =0.01 0.001 < < < < < < < < < < < < < < <
x N i 7 v A A Y =0.02 0.001 < < < < < < < < < < < < < < <
oM MmOk =® & =0.04 0.004 < < < < < < < < < < < < < < <
ST AR A A Y RO EAE T | =001 0.001 — — < -— -— < -— -— < -— -— < < < <
fif Wi fe 2= R K OV Y e B E R =10 0.1 0.84 0.81 0.71 0.65 0.66 0.66 0.59 0.57 0.58 0.87 0.96 1.10 1.10 0.57 0.75
7 v E KUV X OMED =0.8 0.05 < < < < 0.05 < < < < < < < 0.05 < <
r v FEF K OEOMEDY =1.0 0.1 < < < < < < < < < < < < < < <
] #H b R # =0.002 0.0002 < < < < < < < < < < < < < < <
g 14- ¥ 4 x ¥ v =0.05 0.005 < < < < < < < < < < < < < < <
YA-1,2-V7RREF LY RNV A-1 2-Yyaa T Ly =0.04 0.004 < < < < < < < < < < < < < < <
Y s m o owm 2 A v =0.02 0.001 < < < < < < < < < < < < < < <
F FF% Z mux FL =0.01 0.001 < < < < < < < < < < < < < < <
Y 2 BB o F L v =0.01 0.001 < < < < < < < < < < < < < < <
~ 2 + 2 =0.01 0.001 < < < < < < < < < < < < < < <
b # [ =0.6 0.06 — — < < — < — — < < — < < < <
3 7 o " W [i2d =0.02 0.002 = == < - - < - - < - — < < < <
s m m K L A =0.06 0.001 < 0.001 0.001 0.002 0.002 0.002 0.002 0.002 < < < < 0.002 < <
Yy 7 v v K @B =0.03 0.002 — — < — — < — -— < -— -— < < < <
Y 7w % J owmou A K v =0.1 0.001 0.001 0.001 0.002 0.002 0.002 0.003 0.002 0.002 0.002 0.001 0.001 0.001 0.003 0.001 0.002
=" # i3 =0.01 0.001 — — < — — < -— -— < -— -— < < < <
A= T A =0.1 0.001 < 0.003 0.005 0.006 0.006 0.007 0.006 0.006 0.003 < 0.002 < 0.007 < 0.004
kY 7 B B B B =0.03 0.002 — — < — — < -— -— < -— -— < < < <
. 7 m ® Y s ooom AX =0.03 0.001 < 0.001 0.002 0.002 0.002 0.002 0.002 0.002 0.001 < 0.001 < 0.002 < 0.001
i 7 \m  E K A =0.09 0.001 < < < < < < < < < < < < < < <
A v AN T AL F kK =0.08 0.005 — — < — — < — — < — — < < < <
o kX ZE 0ot AE Y =1.0 0.01 < < < < < < < < < < < < < < <
TNHNI=U ARV ZDOIED =0.2 0.01 < < < < < < < < < < < < < < <
% kK O £ © kb & P =0.3 0.01 0.06 0.01 0.03 < 0.02 < 0.01 0.02 0.03 0.02 < 0.03 0.06 < 0.02
Wk T o b A& ! =1.0 0.01 < < < < < < < < < < < < < < <
FTRITLR D ZORED =200 1 6.9 6.9 6.9 6.8 7.0 7.1 7.2 7.9 7.7 7.2 6.8 7.4 7.9 6.8 7.2
W~ v Wy kO ZEolAEDY =0.05 0.005 < < < < < < < < < < < < < < <
H ok B A4 4 v =200 1 7.0 7.0 7.1 6.9 6.6 6.8 6.2 6.1 5.7 6.3 6.6 7.5 7.5 5.7 6.7
ANV LT RV LE(REE) =300 1 47 48 47 45 49 49 51 57 50 49 53 50 57 45 50
A % % & L/ =500 1 74 76 94 98 90 96 78 80 79 83 80 85 98 74 84
e A4 A v R om WE A =0.2 0.02 —— - < - - < - - < - — < < < <
v = 4+ A I v =0.00001 [ 0.000001 < < < < < < < < < < < < < < <
2- A F L A YR LR A — | £0.00001 | 0.000001 < < < < < < < < < < < < < < <
H A A v R om i A =0.02 0.005 = - < == == < == — < — — < < < <
7 =z J = L H =0.005 0.0005 — — < — — < — — < — -— < < < <
AW % (& A K K% JOoC) &) =3 0.2 < < < < < < < < < < < < < < <
pH it 5.8~8.6 7.1 7.1 7.2 7.2 7.3 7.4 7.2 7.2 7.3 7.1 7.1 7.0 7.4 7.0 7.2
LS By chn BEAL | BEARL | BEARL | EBEARL | EBEARL | EEARL | EZERL | BERL | BERL | BERL | BERL | BEkL
= A HBE Tl RBERL | BEARL | BEAL | BEAL | BEAeL | BEAel | BEAeL | BEAeL | BELL | BELL | BELRL | BRESL
= EO( E ) =5 0.5 < < < < < < < < < < < < < < <
) EoOC E ) =2 0.2 < < < < < < < < < < < < < < <
7% 2 i ES =0.1 0.1 0.3 0.3 0.2 0.2 0.2 0.1 0.2 0.2 0.2 0.2 0.2 0.3 0.3 0.1 0.2
v e "



RN (ERAR ERE KM A FI2AE
I A % KA T RRAE 4H7H 5H13H 6H23H TH14H 8HI11H 9H8H 10H12H 11H4H 12H14H 1A19H 2H1H 3H8H S KA Fie/IME SR fiE
K w (. C ) 12.3 16.1 21.2 20.7 24.9 27.3 21.6 18.7 13.4 7.9 8.0 9.1 27.3 7.9 16.8
— i M W (% B /mD) =100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
IN 5 gt At At At At At At A ENE A A ENE ENE
BRIV AR BEONMEDY =0.003 0.0003 < < < < < < < < < < < < < < <
K E 2 0ot &P =0.0005 0.00005 - - < - - < - - < — -— < < < <
L vy E OB EOMNMAED =0.01 0.001 < < < < < < < < < < < < < < <
fh kK O 2 © kb & P =0.01 0.001 < < < < < < < < < < < < < < <
e F K T ZE O AW =0.01 0.001 < < < < < < < < < < < < < < <
x N i 7 v A A Y =0.02 0.001 < < < < < < < < < < < < < < <
oM MmOk =® & =0.04 0.004 < < < < < < < < < < < < < < <
ST AR A A Y RO EAE T | =001 0.001 — — < -— -— < -— -— < -— -— < < < <
fif Wi fe 2= R K OV Y e B E R =10 0.1 0.52 0.46 0.46 0.50 0.41 0.41 0.49 0.46 0.48 0.70 0.73 0.64 0.73 0.41 0.52
7 v E KUV X OMED =0.8 0.05 < < < < < < < < < < < < < < <
r v FEF K OEOMEDY =1.0 0.1 < < < < < < < < < < < < < < <
] #H e R # =0.002 0.0002 < < < < < < < < < < < < < < <
g 14- ¥ 4 x ¥ v =0.05 0.005 < < < < < < < < < < < < < < <
YA-1,2-V7RREF LY RNV A-1 2-Yyaa T Ly =0.04 0.004 < < < < < < < < < < < < < < <
Y s m o owm 2 A v =0.02 0.001 < < < < < < < < < < < < < < <
F FF% Z mux FL =0.01 0.001 < < < < < < < < < < < < < < <
Y 2 BB o F L v =0.01 0.001 < < < < < < < < < < < < < < <
~ 2 + 2 =0.01 0.001 < < < < < < < < < < < < < < <
b # [ =0.6 0.06 — — < < — < — — < < — < < < <
3 7 o " W [i2d =0.02 0.002 = == < - - < - - < - — < < < <
s m m K L A =0.06 0.001 0.001 0.002 0.003 0.003 0.003 0.004 0.002 0.001 0.001 < < < 0.004 < 0.002
Yy 7 v v K @B =0.03 0.002 — — < — — < — -— < -— -— < < < <
Y 7w % J owmou A K v =0.1 0.001 0.001 0.001 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.001 0.001 0.001 0.002 0.001 0.002
=" # i3 =0.01 0.001 — — < — — < -— -— < -— -— < < < <
A= T A =0.1 0.001 0.003 0.005 0.007 0.007 0.008 0.009 0.006 0.005 0.005 0.002 < 0.002 0.009 < 0.005
kY 7 B B B B =0.03 0.002 — — < — — < -— -— < -— -— < < < <
. 7 m ® Y s ooom AX =0.03 0.001 0.001 0.002 0.002 0.002 0.003 0.003 0.002 0.002 0.001 0.001 < 0.001 0.003 < 0.002
i 7 \m  E K A =0.09 0.001 < < < < < < < < < < < < < < <
A v AN T AL F kK =0.08 0.005 — — < — — < — — < — — < < < <
ot kB 0k AW =1.0 0.01 < < < 0.01 < < < < < < < < 0.01 < <
TNHNI=U ARV ZDOIED =0.2 0.01 < < < < < 0.01 < < < < < < 0.01 < <
% kK O £ © kb & P =0.3 0.01 < < < < < < < < < < < < < < <
Wk T o b A& ! =1.0 0.01 < < < < < < < < < < < < < < <
FTRITLR D ZORED =200 1 5.6 5.7 5.9 6.2 6.1 6.3 6.5 7.3 7.0 6.7 6.4 6.2 7.3 5.6 6.3
W~ v Wy kO ZEolAEDY =0.05 0.005 < < < < < < < < < < < < < < <
H ok B A4 4 v =200 1 6.2 6.3 6.4 6.2 5.5 5.8 5.7 5.7 5.6 7.2 7.6 7.5 7.6 5.5 6.3
ANV LT RV LE(REE) =300 1 38 41 43 45 47 45 47 52 45 43 51 43 52 38 45
A % % & L/ =500 1 59 66 78 86 83 82 78 71 76 74 76 73 86 59 75
e A4 A v R om WE A =0.2 0.02 —— - < - - < - - < - — < < < <
v = 4+ A I v =0.00001 [ 0.000001 < < < < < < < < < < < < < < <
2- A F L A YR LR A — | £0.00001 | 0.000001 < < < < < < < < < < < < < < <
H A A v R om i A =0.02 0.005 = - < == == < == — < — — < < < <
7 =z J = L H =0.005 0.0005 — — < — — < — — < — -— < < < <
AW % (& A K K% JOoC) &) =3 0.2 < < < < < < < < < < < < < < <
pH it 5.8~8.6 7.2 7.1 7.2 7.1 7.3 7.4 7.2 7.2 7.3 7.1 7.1 7.1 7.4 7.1 7.2
LS By chn BEAL | BEARL | BEARL | EBEARL | EBEARL | EEARL | EZERL | BERL | BERL | BERL | BERL | BEkL
= A HBE Tl RBERL | BEARL | BEAL | BEAL | BEAeL | BEAel | BEAeL | BEAeL | BELL | BELL | BELRL | BRESL
= EO( E ) =5 0.5 < < < < < < < < < < < < < < <
) EoOC E ) =2 0.2 < < < < < < < < < < < < < < <
7% 2 i ES =0.1 0.1 0.3 0.2 0.2 0.2 0.2 0.1 0.1 0.2 0.2 0.2 0.2 0.2 0.3 0.1 0.2

TV RS, IR AR T,

Wi, 2072V RY , mg/1ET 5, F#)EA No.l13



WHITARBRT  (ARIKR ki) SRR
I A % KA T RRAE 4H7H 5H13H 6H23H TH14H 8HI11H 9H8H 10H12H 11H4H 12H14H 1A19H 2H1H 3H8H FRAE Fie/IME SR fiE
K w (. C ) 13.3 17.1 22.9 23.0 26.1 27.5 22.7 20.2 15.0 7.4 7.5 9.2 27.5 7.4 17.7
— i M W (% B /mD) =100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
IN 5 gt At At At At At At A ENE A A ENE ENE
BRIV AR BEONMEDY =0.003 0.0003 < < < < < < < < < < < < < < <
K E 2 0ot &P =0.0005 0.00005 - - < - - < - - < — -— < < < <
L vy E OB EOMNMAED =0.01 0.001 < < < < < < < < < < < < < < <
fh kK O 2 © kb & P =0.01 0.001 < < < < < < < < < < < < < < <
e F K T ZE O AW =0.01 0.001 < < < < < < < < < < < < < < <
x N i 7 v A A Y =0.02 0.001 < < < < < < < < < < < < < < <
oM MmOk =® & =0.04 0.004 < < < < < < < < < < < < < < <
ST AR A A Y RO EAE T | =001 0.001 — — < -— -— < -— -— < -— -— < < < <
fif Wi fe 2= R K OV Y e B E R =10 0.1 0.37 0.24 0.46 0.40 0.16 0.29 0.48 0.45 0.45 0.60 0.57 0.43 0.60 0.16 0.41
7 v E KUV X OMED =0.8 0.05 < < < < < < < < < < < < < < <
r v FEF K OEOMEDY =1.0 0.1 < < < < < < < < < < < < < < <
] #H b R # =0.002 0.0002 < < < < < < < < < < < < < < <
g 14- ¥ 4 x ¥ v =0.05 0.005 < < < < < < < < < < < < < < <
YA-1,2-V7RREF LY RNV A-1 2-Yyaa T Ly =0.04 0.004 < < < < < < < < < < < < < < <
Y s m o owm 2 A v =0.02 0.001 < < < < < < < < < < < < < < <
F FF% Z mux FL =0.01 0.001 < < < < < < < < < < < < < < <
Y 2 BB o F L v =0.01 0.001 < < < < < < < < < < < < < < <
~ 2 + 2 =0.01 0.001 < < < < < < < < < < < < < < <
b # [ =0.6 0.06 — — < < — < — — < < — < < < <
3 7 o " W [i2d =0.02 0.002 = == < - - < - - < - — < < < <
s m m K L A =0.06 0.001 0.003 0.008 0.016 0.014 0.012 0.012 0.004 0.003 0.005 0.002 0.002 0.003 0.016 0.002 0.007
Y 7 wv B R =0.03 0.002 -— — 0.003 — — 0.002 — — < — — 0.002 0.003 < <
Y 7w % J owmou A K v =0.1 0.001 0.002 0.002 0.002 0.002 0.003 0.003 0.002 0.002 0.001 0.002 0.002 0.002 0.003 0.001 0.002
=" # i3 =0.01 0.001 — — < — — < -— -— < -— -— < < < <
A= T A =0.1 0.001 0.008 0.015 0.025 0.022 0.022 0.022 0.009 0.008 0.009 0.007 0.006 0.008 0.025 0.006 0.013
kY 7 B B B B =0.03 0.002 — — 0.009 — — 0.004 — — 0.004 — — < 0.009 < 0.004
. 7 m ® Y s ooom AX =0.03 0.001 0.003 0.005 0.007 0.006 0.007 0.007 0.003 0.003 0.003 0.003 0.002 0.003 0.007 0.002 0.004
i 7 \m  E K A =0.09 0.001 < < < < < < < < < < < < < < <
A v AN T AL F kK =0.08 0.005 — — < — — < — — < — — < < < <
o kX ZE 0ot AE Y =1.0 0.01 < < < < < < < < < < < < < < <
TANI=ZU LK OVOZOIEDY =0.2 0.01 0.01 0.02 0.03 0.03 0.03 0.04 0.02 0.01 < < < < 0.04 < 0.02
% kK O £ © kb & P =0.3 0.01 < < < < < < < < < < < < < < <
Wk T o b A& ! =1.0 0.01 < < < < < < < < < < < < < < <
FTRITLR D ZORED =200 1 6.4 6.9 7.1 7.1 7.3 7.8 7.6 8.0 9.5 7.9 7.1 6.3 9.5 6.3 7.4
W~ v Wy kO ZEolAEDY =0.05 0.005 < < < < < < < < < < < < < < <
H ok B A4 4 v =200 1 8.0 7.6 8.0 9.6 7.6 8.4 8.7 7.6 10.0 10.5 10.4 8.3 10.5 7.6 8.7
ANV LT RV LE(REE) =300 1 25 28 28 25 29 33 33 37 32 25 25 22 37 22 29
A % % & L/ =500 1 44 49 68 66 60 71 62 58 68 56 53 48 71 44 59
e A4 A v R om WE A =0.2 0.02 —— - < - - < - - < - — < < < <
v = 4+ A I v =0.00001 [ 0.000001 < < < < 0.000002 | 0.000004 < < < < < < 0.000004 < <
2- A F L A YR LR A — | £0.00001 | 0.000001 < < < < < < < < < < < < < < <
H A A v R om i A =0.02 0.005 = - < == == < == — < — — < < < <
7 =z J = L H =0.005 0.0005 — — < — — < — — < — — < < < <
AW % (& A K K% JOoC) &) =3 0.2 < 0.3 0.3 0.2 0.3 0.3 < < < < < < 0.3 < <
pH it 5.8~8.6 7.5 7.5 8.3 8.3 8.4 8.3 7.7 7.7 7.5 7.4 7.5 7.4 8.4 7.4 7.8
LS By chn BEnL | BE2L | BE2L | BEA2L | BEAL | BEARL | BEARL | BEARL | BEAL | BEAL | BEAl | BEkl
= A HBE Tl RBERL | BEARL | BEAL | BEAL | BEAeL | BEAel | BEAeL | BEAeL | BELL | BELL | BELRL | BRESL
= EO( E ) =5 0.5 < < < < < < < < < < < < < < <
) EoOC E ) =2 0.2 < < < < < < < < < < < < < < <
7% 2 i ES =0.1 0.1 0.3 0.2 0.3 0.2 0.2 0.2 0.2 0.3 0.2 0.2 0.2 0.3 0.3 0.2 0.2

TV RS, IR AR T,

Wi, 2072V RY , mg/1ET 5, (F)KFZR  No.l4



it

R TIA BT « P 5T (EFEKFHR KEOKHL) 645 ~11H 1ZAAT 12 DI I5R0T AN 24E
I A % KA T RRAE 4H7H 5H13H 6H23H TH14H 8HI11H 9H8H 10H12H 11H4H 12H14H 1A19H 2H1H 3H8H FRAE Fie/IME SR fiE
K w (. C ) 12.8 16.6 21.9 22.5 24.6 217.5 23.4 18.0 12.8 5.5 6.8 10.2 27.5 5.5 16.9
— i M W (% B /mD) =100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
IN 5 gt At At At At At At A ENE A A ENE ENE
BRIV AR BEONMEDY =0.003 0.0003 < < < < < < < < < < < < < < <
K E 2 0ot &P =0.0005 0.00005 - - < - - < - - < — -— < < < <
L vy E OB EOMNMAED =0.01 0.001 < < < < < < < < < < < < < < <
fh kU 2 o b &Y =0.01 0.001 < < < 0.002 0.002 0.002 0.001 0.002 < < < < 0.002 < <
e F K T ZE O AW =0.01 0.001 < < < < < < < < < < < < < < <
x N i 7 v A A Y =0.02 0.001 < < < < < < < < < < < < < < <
oM MmOk =® & =0.04 0.004 < < < < < < < < < < < < < < <
ST AR A A Y RO EAE T | =001 0.001 — — < -— -— < -— -— < -— -— < < < <
fif Wi fe 2= R K OV Y e B E R =10 0.1 0.35 0.22 0.40 0.37 0.18 0.30 0.47 0.40 0.37 0.44 0.46 0.38 0.47 0.18 0.36
7 v E KUV X OMED =0.8 0.05 0.10 0.10 0.12 0.10 0.12 0.10 < 0.11 0.11 0.12 0.13 0.10 0.13 < 0.10
r v FEF K OEOMEDY =1.0 0.1 < < < < < < < < < < 0.1 < 0.1 < <
] #H b R # =0.002 0.0002 < < < < < < < < < < < < < < <
g 14- ¥ 4 x ¥ v =0.05 0.005 < < < < < < < < < < < < < < <
YA-1,2-V7RREF LY RNV A-1 2-Yyaa T Ly =0.04 0.004 < < < < < < < < < < < < < < <
Y s m o owm 2 A v =0.02 0.001 < < < < < < < < < < < < < < <
F FF% Z mux FL =0.01 0.001 < < < < < < < < < < < < < < <
Y 2 BB o F L v =0.01 0.001 < < < < < < < < < < < < < < <
~ 2 + 2 =0.01 0.001 < < < < < < < < < < < < < < <
b # [ =0.6 0.06 — — < < — < — — < < — < < < <
3 7 o " W [i2d =0.02 0.002 = == < - - < - - < —— — < < < <
s m m K L A =0.06 0.001 0.002 0.004 0.007 0.006 0.007 0.006 0.004 0.002 0.003 0.001 0.001 0.001 0.007 0.001 0.004
Y 7 wv B R =0.03 0.002 -— -— < -— -— < -— -— 0.002 - — < 0.002 < <
Y 7w % J owmou A K v =0.1 0.001 0.003 0.004 0.005 0.004 0.006 0.005 0.002 0.003 0.002 0.003 0.003 0.003 0.006 0.002 0.004
=" # i3 =0.01 0.001 — — < — — < -— -— < - -— < < < <
A= T A =0.1 0.001 0.008 0.013 0.019 0.016 0.021 0.018 0.009 0.009 0.008 0.007 0.007 0.007 0.021 0.007 0.012
kY 7 B B B B =0.03 0.002 — — 0.005 — — 0.002 — — 0.003 = — < 0.005 < 0.003
. 7 m ® Y s ooom AX =0.03 0.001 0.003 0.004 0.006 0.005 0.006 0.006 0.003 0.003 0.003 0.002 0.002 0.002 0.006 0.002 0.004
i 7 \m  E K A =0.09 0.001 < 0.001 0.001 0.001 0.002 0.001 < 0.001 < 0.001 0.001 < 0.002 < <
A v AN T AL F kK =0.08 0.005 — — < — — < — — < — — < < < <
o kX ZE 0ot AE Y =1.0 0.01 0.02 0.01 0.02 0.02 0.02 0.02 < 0.01 0.02 0.02 0.02 0.02 0.02 < 0.01
TANI=ZU LK OVOZOIEDY =0.2 0.01 < 0.01 0.01 0.01 0.02 0.02 0.01 < < < < < 0.02 < <
% kK O £ © kb & P =0.3 0.01 < < < < < 0.03 < < < < < < 0.03 < <
Wk T o b A& ! =1.0 0.01 < < < < < < < < < < < < < < <
FTRITLR D ZORED =200 1 16.5 16.2 18.4 16.0 18.1 17.0 5.6 19.1 21.6 21.2 22.1 18.3 22.1 5.6 17.5
W~ v Wy kO ZEolAEDY =0.05 0.005 < < < < < < < < < < < < < < <
H ok B A4 4 v =200 1 12.9 12.4 13.9 13.6 13.4 11.9 5.4 13.0 15.3 16.2 17.7 14.6 17.7 5.4 13.4
ANV LT RV LE(REE) =300 1 34 36 37 31 38 40 37 44 41 39 42 34 44 31 38
A % % & L/ =500 1 74 76 112 102 102 98 62 86 95 101 89 86 112 62 90
e A4 A v R om WE A =0.2 0.02 —— - < - - < - - < — — < < < <
v = 4+ A I v =0.00001 [ 0.000001 < < < < 0.000001 | 0.000002 < < < < < < 0.000002 < <
2- A F L A YR LR A — | £0.00001 | 0.000001 < < < < < < < < < < < < < < <
H A A v R om i A =0.02 0.005 = - < == == < == — < — — < < < <
7 =z J = L H =0.005 0.0005 — — < — — < — — < — -— < < < <
AW % (& A K K% JOoC) &) =3 0.2 < 0.3 0.3 0.2 0.3 0.3 < < 0.2 < < < 0.3 < <
pH it 5.8~8.6 7.4 7.4 7.5 7.4 7.5 7.7 7.3 7.5 7.5 7.4 7.4 7.3 7.7 7.3 7.4
LS By chn BEnL | BE2L | BE2L | BEA2L | BEAL | BEARL | BEARL | BEARL | BEAL | BEAL | BEAl | BEkl
= A HBE Tl RBERL | BEARL | BEAL | BEAL | BEAeL | BEAel | BEAeL | BEAeL | BELL | BELL | BELRL | BRESL
= EO( E ) =5 0.5 < < < < < < < < < < < < < < <
) EoOC E ) =2 0.2 < < < < < < < < < < < < < < <
7% 2 i ES =>0.1 0.1 0.2 0.2 0.3 0.3 0.2 0.3 0.3 0.2 0.3 0.2 0.3 0.3 0.3 0.2 0.3
v e "




